1. Deuda Publica (1=A+B) 0.00 0.00 0.00 0.00 0.00 0.00 0.00
A. Corto Plazo (A=a1+a2+a3) 0.00 0.00 0.00 0.00 0.00 0.00 0.00|
a1) Instituciones de Crédito 0.00 0.00 0.00 0.00 0.00 0.00 0.00
a2) Titulos y Valores 0.00 0.00] 0.00 0.00 0.00 0.00 0.00]
a3) Arrendamientos Financieros 0.00] 0.00] 0.00] 0.00 0.00] 0.00 0.00]
B. Largo Plazo (B=b1+b2+b3) 0.00 0.00 0.00 0.00 0.00| 0.00 0.00
b1) Instituciones de Crédito 0.00 0.00 0.00 0.00 0.00 0.00 0.00
b2) Titulos y Valores 0.00 0.00 0.00 0.00 0.00 0.00 0.00
b3) Arrendamientos Financieros 0.00] 0.00] 0.00 0.00] 0.00 0.00 0.00
2. Otros Pasivos 0.00| 0.00 0.00]
?5:1-:;' de la Deuda Publica y Otros Pasivos 0.00 0.00 0.00 0.00 0.00 0’90 0.00
4. Deuda Contingente 1 (informativo) 0.00 0.00 0.00 0.00 0.00 0.00 0.00
A. Deuda Contingente 1 0.00 0.00 0.00 0.00 0.00] 0.00 0.00,
B. Deuda Contingente 2 0.00 0.00 0.00 0.00 0.00] 0.00 0.00

C. Deuda Contingente XX 0.00] 0.00] 0.00 0.00 0.00] 0.00]
:hf‘;:':;ﬁsz) Instmmentas, Boano Gupsin iGero 2 0.00 0.00 0.00 0.00, 0.00 0.00 0.00
A. Instrumento Bono Cupén Cero 1 0.00 0.00] 0.00 0.00 0.00 0.00] 0.00
B. Instrumento Bono Cupén Cero 2 0.00) 0.00 0.00 0.00] 0.00] 0.00 0.00
C. Instrumento Bono Cupén Cero XX 0.00 0.00 0.00) 0.00 0.00 0.00 0.00

A. Crédito 1

B. Crédito 2




